ANDALUCIA
EXTENSION
TABLE

Page 1 of 5

Extending Dining Table
Assembly Instruction

PLEASE READ this sheet prior to assembly to familiarise yourself with the various

stages of construction. Carefully open the pack supplied and check the contents
against the parts and fitting check list.

Do not destroy any of the packaging until you are certain that you have all the necessary parts for the
assembly
CAUTION: There are small components used in the contruction of this unit. These loose items should
be kept away from young children whilst assembly your unit avoild the danger of chocking hazards.

VISUAL IDENTIFICATION & FITTINGS

| ITEM| DESCRIPTION |QTY
b A Table top 1
B Leg 4
C Connection Bracket 1
C
FITTINGS CHECKLISTS
Code  Description Qty Code  Description Qty Code  Description Qty

o ¥

bolt M8*15

8 ® & 8 © -~ 1
Bolt  M8*15 Allen key 5mm

@

1 ® / 1

Allen key 14mm Allen key 4mm

CARE & MAINTENANCE

To maintain the appearance of your Table do not use any chemicals or solvents
when cleaning. Clean & dry any spills immediately with a lightly damp cloth &
dry off. Regular dusting with a light cloth will maintain a consistent finish.




Page 2 of 5
Hints & Tips 0
‘ Please retain your

assembly instruction for
future use

This assembly requires
two persons

STEP 1
@ 8
Bolt M8*15
@ & 8
Bolt M8*15
©) I 1
Allen key 5mm
STEP 2

@ "3/ 1

Allen key 14mm

® / 1

Allen key 4mm

STEP 3




Page 3 of 5

STEP 4

STEPS

STEP 6




Page 4 of 5
STEP7

To adjust the extension leaves please use a
spanner (not Provided) to adjust each side to
the required height.

/>{\/ \}\
. N
I/
\%f\-‘cf\—[ ' ' ] \\_< ) ; / |\\ -

~_\ iii’ ,

STEPS8

Y m—)

~—"

L é\?/ ) ry ) \:ﬁo |
AN
\\
N

\\\ | - N
\\_\‘\_ 5 (g) ;
In case the extension leaves are not operating
correctly please note these can be adjusted. loosen
the allan bolts on the underside of the frame as
indicated in the image. Adjust the metal plates that

connect the main frame. tighten once adjusted.




Page 5 of 5

v

To maintain your table mechanism.
periodically apply a small amount of lubricant to the metal runner as indicated on the image.

z ) Place a small amount
= of lubricant.

Caution: please keep children away from the table when
operating the extension leaves.






